mean # PXL hits vs eta |

<pixel hits> [

Ratio

© o o o ol
N S [e2] o] = N D
T T [ T T T T T T T

F h
[#)
TT T 1T

=
[o2)
TT T

P
[ = S\

<pixel layers>

Ratio

1.4}

I
0.8}

0.6}

1.2k

0.4

...........................................................

Lo ¥

1

oo
J-.GEIIIIillllillllillllilllli

1.2:— """ 1

<strip hits> ™

Ratio

18F
16F

14

12F
10F

8
6
4
2

—=— DQM _original_step?2_ttbar-phasel-newgeom
—e— DQM_pixelCPE_step2_ttbar-phasel-newgeom
—— DQM_pixelCPEChi20R_step2_ttbar-phasel-newgeom

L Of

[
LN I I I B

0.95%

<strip layers>

Ratio

6_

M T -

R R ; N T
S

H

095




	Contents
	Page 1


